2 groups of MI are facing each other. Unit A is directly in front of unit Z. The gap between A and Z
is less than one UD and unit A is in ZOC of unit Z.
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It is the red players turn an his Commander has enough CP. Unit B is charging unit Z. Unit B is
making contact with the flank unit Z.
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Because unit B did not start the charge move in the flank of unit Z it has to conform to the front
edge of unit Z. While conforming unit B is displacing unit A.
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Unit C move into support of unit B.
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And unit A move into support of unit B.
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Were these legale moves?



